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sin 90 cos 45 1 2 1,707
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sin cos 0,866 0,5 1,366
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��� ( ) ( )sin 60 1 cosx° = − � �

( ) ( ) arccoscos 1 sin 60 0,134 82,30x x� = − ° = → = �
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��� ( ) ( )tan 30 2 cosx° = ⋅ �

( ) ( ) arccos1
cos tan 30 0,2887 73,22

2
x x� = ⋅ ° = → =
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��� log 343 3x = �� � �
33log 343 3 343 7x x x� = � = → = �
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30 1

0,52
180 6
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765 17

13,35
180 4

b
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180
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��� ( ) 1313 43.048 1,02 55.687,18 55.687f = ⋅ = ≈ �

��� ( ) 3737 43.048 1,02 20.689,34 20.689f −− = ⋅ = ≈ �
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)

[ ]

: 43.048

ln

60.000
43.048 1,02 60.000 1,02

43.048
60.000

ln
43.048

16,77 17
ln1,02

Im Jahr 2.024 wird Landau etwa 60.000 Einwohner haben.

x xc

x Jahre

⋅ = → =

� �
� �
� �→ = ≈ ≈

�

�

)

13

: 43.04813 13

1313

53.595
43.048 53.595

43.048

53.595
1,245 1,017

43.048
Durchschnittliches jährliches Wachstum:  1,7 %
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a
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HalbkreisErmittlung Radius A r r

Teilfläche A r

π π

π π π π π
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1 4

2 3
1 4

18
2 3

12.214,51

V r

V

V m

π

π

= ⋅ ⋅ ⋅

= ⋅ ⋅ ⋅
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2 21
4 2 2.035,75

2
O r r Oπ π= ⋅ ⋅ ⋅ = ⋅ ⋅ � = �
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2 2 2 2 36 64 100 10c a b c c= + � = + = � = �
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2 21 1 9
3

2 2 2a aA r Aπ π π= ⋅ ⋅ � = ⋅ ⋅ = �

A�#������"#4�	��B�������������

2 21 1
4 8

2 2b bA r Aπ π π= ⋅ ⋅ � = ⋅ ⋅ = �
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2 21 1 25
5

2 2 2c cA r Aπ π π= ⋅ ⋅ � = ⋅ ⋅ = �

1������ [ ]9 25
8 . . .
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